>
<S>
<S>
(&>
<
<S>
<>
<>
=

0 , o
& 4=
T )
pe =
S O
0 E »
g @]
s o
\ 5 Q
0 : 9 o
o)
m r{ -
@ 2

F

ATENCION

Actividad

<
=
—
O
LLl
-
LL)
7

_,
¥

Sefala cual es el mas peque

(D

o

K] -

2



RO HHGEER (= > <> > > =) = =
Sefala cual es el mas pequefio de los cuatro <«

(=)

()

) O0—0—0—0—0—0—0-0—0—0-0-0




)

=]

-]
-~
1
d

O~—-06—6-6-0-0-0-0-9-0f

S = = < <> > =) =

Sefala cual es el mas pequefio de los cuatro

Qe @

= (= (= (= (= = (= <
¥ > S L (S <> <> > =




e

HGED) = = <> & > = =)

-
J,

(

Sefala cual es el mas grande de los cuatro

Sefala cual es el mas grande de los cuatro



=3
-
J,

(

b-6-6-0-0-9-0f

D) > S > > o =

Sefala cual es el mas grande de los cuatro

SABE RS K¢

§=0—06—0—0—66—0—0—6—0-0r¢



